Bl S 5 RGP R4 7] R il It i 5 T R4 Al R 2 8 Z I AR A
S LI i P 2 50 BE AR FE AT Ao ] - S W HE A B A 2 A AT
FIS 0 127 % T 2 /1 2 AT 1 % 5 1A 28 T 5] B0 2 AT A 1K AR IEAE ] B AT »

MERE
Melcolot

MEREEBR AT
(G 2 7 5 Gt i or 2 B IR F])
(e AL 5% - 8198)

BE-F——FXAZTHLEANEAZFHREA
ERBERZAARAIA (BIFD AIER(AIXER]) 2B

AIERNECNDABAELEEMEBRIA LT 2ARFEREREAR AT RME
—ELEhmzhE AEREERTHRENZSERACEEAR  YEKBESR
ARZEZBERATFHRERE - AIERZBESAREKEMBRERTAZRRES
EXRHMpEREECREE -

HRAERIER LT ZARAEBRFTEME  FAXREEZE S TREERRNB AT
IMEECEBSEAZIBAZTERDAR  ARELIRBEIAXREE2ESS
BFERBEEZTS

AL Y A TG TR BT Y B AR i 5 L TR (B FEAR L i AR R ) i T
5 7E 1 A BT IR A A R 2 Al A9 BEHE 5 BT IRAE A IR 2 ] 5 3 F LA 2 77 1Y
BRI ] T A ) o R 9 2 A ECAT o BT BEIRAEA IR L il 5 B F 1 F ] — U] & P2
% > %Mﬁﬁﬁﬂﬁﬁafiﬁ%ﬁﬁﬁ#f%ﬁﬁﬁﬁﬁgﬁﬁﬁxﬁ KA
A FF A 5 o L I AT (] I > A2 LS B 2 BRI (] R 2 E A R
i



EEENWRD

MBEREARAF ((AAR N EHF((EE)) g ((EBE)) I M AL 7 b =M
BAR (TREE]) BHE _F——FAH=1THIEAMEA ((EEH]) 2 K REFEZL
SRS SN

KO

AL 2 E S A b A N RSB ([ ) $2 00 SR AR B B il ~ 2 590 S i ok
O7 50— L A TP B A R SR SR e B ) RE RS A 1) B LR S B A o SR B
A2 AR S% o AR S 1 R A B B T A A% T MR Byl TR R R A SR
B A 5 R S B - B W AT Y A TR 5 DA i B R AR T ) o AR FIAR S
o [ HE R A P AR R 0 B R o BR T M Intralot S.A SR HETE Hf B ] HC4H SR 42 R
(% SR AT Ah - AS 45 [ R 2 P i I 52 A R % O 2 98 28 7 % i Nanum  Lotto 5 1B ]
IR B Z— -

AL [E] 7 1] e B ) AR A R — AR [R] 98 6% 22.33,100,000% 7T ( —F — A4 ¢
35,300,000 70) o B ti ik b > FEZER AP EEE R EE PO R IEE N
R PR A 1 > AN 4 R PR R I R R MR BT GG A R SR E R
5 K b 2 U AR I 16% 225,600,000 76 (—F —ZF4F 1 30,400,00045 70) © 55—
T > BREAE 85 R B A 2 A LIRSS A IR 251G R 53% £7,500,000% T (L E —F AR ¢
4,900,000%5 J6) > 3= B2 DRl 5 3t 4 2R S 7 o 10 S B S [ R B Bk 1S PR BN R o

(] J 440 17%) A 39 [ s 45 571,800,000 7T ( —FE —F 4 1 66,200,000% 70) - & H E 1B
BUHIE B &S0l Hp s

() A AT e Bl R 2 B O PR B PR A S T T e B R AR B AR o R AR B B
42.100,000% JC (—F —F4E : 36,100,0004 70) Z #EFEF E

(i) W2~ HEAR i DL TR B 2 T8 S B 6 B %03,100,0009 00 (—F — &
4 1 11,300,0004 50) 5 M

(iil) A T8 59587 09 5t TR I 4 U0 519 i AN A 3 R A% IR ] R B > TR UG R 20 R 1) R 2R AR
B ETH5,500,000% 70 ( —F —F 4« M) 2 77 & Wb -



R E
HEAFRABE —F——FARH =T H A0 IRE P HRE (ZF—F4F
) o PRI IR A RS o

RBES MBERREXREGE

[l B3 A A R TR A L A 1 ) B 4 B PR B OK o AR SR — MR AN ER R SRAT 2
Al K~ — A B L w] BRI 2 R > A b AT A A I 8 AN A 0 B S MR R
B2 e

A 45 [E) A (o] B B 0 AR R A R A B R B E AR e S S E——F ANH=1+H >
SRATHE R Bl & (FZE W o KA RWFHE) 431,500,000 ¢ (—F —F4F+ " H
=+ —H :44,000,000%70) o A = F——4FNH =T H Z B R (B E E B D
MEBAEEZLR) B3 (“E—FF+_H="T—H:10) -

AREE N —F——4FANH =T H 2 A KSR EE S H430,500,000% 6 (—F
—ZE+ZH = +—H :365,300,000% ) > =B H 5] R AE IR 2 AE R
682,000,000 7€ ( —F —FHFE -+~ H =1—H : 640,400,000 jC) FrEE o 7] o I 1
FHEHMAEE = HREBRFEE > LIS TEHE > HFEFR0.1%51E o v i ES
ZEMHRB CE AT AT O R SR A o S s AR
—HHANFBRRE A A BEARER T —ER _F—_4FLH +MHz
11 2.80,000,000% 7T B 3K o O B E B AR B 2 Bl a0k DL B R AR+ | A 1 B
B TR > AH (S AN 4 1 e A 2 OB AT ) M B AT > I n] A T IR A AR B AT
BT e DA B i 55 75 - T R B O S SR Y T A o

R FE——4ENH =10 - AL ENEDSTHE KR4S SRR E
EEARKE(ZE-FEFE+_H="1+—H : 11,900,000 7C) °

SEEE 2T
e FE——AEANA = H > AR Z A AR IR DUAS 2w T KR A w2 B
(2 E/I L

ERKEzHE

AT ——ERNA=TH AEETA EERBMEHILISETT - o0 AR LEE
KA o MUK > AL Z SER IS B B LI T M NRFESSE o R AN JE R 2 5
BENK > PR 7 8 PR ECE b sl At 1 i



EBEER

T FE N A = AEER R R R IR NS A 2 A T (—F—
FTHEFTZH=Z+—H 1 914) « AMEEBES LT IGHEG LA TRIERBEERBZ
AR o BRIEEAZIM SN » AL IR A B TR U AR R - dnsm A ek - B AR
Bt ~ JIRCRE T & DL L B T alEt ]

HREE
ALEE ZF — N A = Ol AT ] O SR R

RE

T A 25 WO 2 5 o o R RS — A AR L R DR S S ) B e gt B T 8 B B
BUR > BB - AR = A A G o BE A AR - A B T e AT
AR B0 5T BER A EE o T RO SE R 2 W dh v B R R o

M - —AEE H B B A BT > AR I AN AR SR S o
RBEALNE B IE M ARG S BRERAR T 264 (HH ATE 5 B A [ 845 i
DAER TH R ZE M - G045 AT B W IR HE B AR 2 D - AR SR DY o A T Y — D) PR
BE - BEHPEFERZNSHEIGEGZEFEERNARAA (LERERFE]D -
Al B2 P B RR AL AUE R R g R R PRMERS TR > LRI AL
A S b i R A T 2 S R T BRSO Y 28 B R A o TR SE AR - L A
1 B R AR 28w A W) 2 07 sUAMR o JRER A > T I L A A A 4R T AR
A 1 2 i M B SE T o

7 £ 8] 15 o B A0F 5 R R O K B o B > S IR (A TR O R S AR B R R DLE
12w BRSO 2 PO -



BHHFEE2EWER
#HE-F——FNH=1THIEANMA
gz gz
AAZTHILEZM@EA AAZTHLERER
—E--F “EF%F ZB--F “%%F
(REEHR) (REEW) (REER) (REEY)

it FET T FET Fit
i % 3 19,083 25315 33,093 35,278
B R R E) (9,905) 11,916 (9,566) 4,644
AR K CHRER AR (7,307) (33,150) (18,375) (33,776)
HAb A Rl & 170 140 448 412
I B 8 A LA (4,833) (5,296) (10,685) (10,866)
Y& (1,541) (5,663) (3,092) (11,329)
AR E A 2 B R (1,498) (267) (2,402) (338)
HEAE S E h E E 2  A (B51) 104 224 (215) (263)
HAb B %2 (11,103) (6,205) (18,545) (13,854)
il A 5 (21,686) (19,415) (42,505) (38,109)
BB il R 48 (38,518) (32,401) (71,844) (68,201)
B 6 225 977 - 2,012
A R 8 (38,293) (31,424) (71,844) (66,189)
Htr2EKE (BX)
MBI AINER T EL 2 AR 1,384 (4,090) 3,460 (2,704)
A 2 2T B S A (36,909) (35,514) (68,384) (68,893)
TN A5 A 4R
LN/NE: 2SN (34,819) (30,417) (67,026) (63,548)
I P R 42 (3,474) (1,007) (4,818) (2,641)

(38,293) (31,424) (71,844) (66,189)

BN A T S AR

ZN/NGIE YN (33,435) (34,507) (63,566) (66,252)
P I HE 45 (3,474) (1,007) (4,818) (2,641)

(36,909) (35,514) (68,384) (68,893)

BREB 9
e 7Y 3 (6.92384l)  (6.05%Al)  (13.32584L)  (12.65%Al)




B4R S M AR M &
W ZE N =1 H

Mt

)

UERN £ Y & ] 10
i

eI = g

T Wk 7 2 ) 2 4

i F[R] 2 o B R 2 HE A

A SR

E
£ &
JRE S B 2 B 3 e L At JE i ik T 11
JARE Wi ] 428 1) B A R E
JRE Wiz — [ A B 8 2 ) R JE — — 4 A B 40
G Wi — ] BB 7 R R I
RAT 25 R LBl &

i

s Iy

R B=
JEAST 52 T B s % HAth R A< 3 OH 12
JEASH A B 2 2 W] 5KOH
R ARF — ] B 7 2 ] RIH
JBE A 3t JE
— [ A B 2 2 w1 2 K
— 4N E

U B

R=B——F B F EE
AB=+H +t=-—H=+—H
(CREEER) (S E)

FAT T
14,828 9,831
27,903 27,903
75,950 77,277
5,855 8,257
11,683 11,898
142,302 138,802
278,521 273.968
32,520 41,219
38,961 38,51
16,881 33,362
- 10,503

2,434 1,000
31,542 43,978
122,338 168,313
53,956 68,208
10,936 10.540
2,228 6,139
2,256 2.321

- 80,000
69,376 167,208
331,483 275.073




B it
e A
fit At

A A HEAT N AL HE 2
I 12 i HE 4

REUE A e 2

TN

— [ A B 2w R M 2 K
— AR E

] BRI

13

R=B——% ROFF
AA=+A +oA=T 0
(GRISE%) ()

FET T T
5,030 5,026
(440,602) (380,160)
(435,572) (375,134)
5,035 9,853
(430,537) (365,281)
80,000 -
682,020 640,354
762,020 640,354
331,483 275,073



BEESCE 3 RS
#E _E——FENH=AHILANMA

KARREARR
DY wE  TREES
R RBEE xfeBE  tERE  ERRE  NERE  ZHER Mt FERER i
T TEr FEr TEr o FEr FEr TEC FEr o TEr FEr
RZF-FE-f-H

(EEH) 008 368.6%5 209 3 64540 VAR (304500 (0006 083 0L18)
BERNERRRLE,

Eizg - - - (2704) - (27104) - (2704)
KGR - - - S (B35 (6354 (64 (66,189)
LS e b

4n - - - Q) 58 (6625 08 (6889)
RAREGEELIRR

SRLEG - 2311 - - - 230 - bRl
R EE T

Brbah 18 m (89) - - - 157 - 157
BB -FHRELT

ZHBRAR I

MRS - - - - - (653) (653)
REZ-FERAZTA

(E%H) 5006 36800 5N 33 6540 WL (1368049 (85789 17389 (268200)
RZF——k-f-H

(E%H) 506 36800 26,501 3 6540 0790 (1465409  (375,134) 9853 (365281)
BERNERRRLE,

EnEs - - - 3460 - 3460 - 3460
KGR - - - (60 (67.006) (@818 (71.844)
LS eI b

4n - - - 306100 (63566 @818 (68384)
RAREGEELIRR

SLBG - 3,100 - - - 3100 - 3,100
R

Bkl 4 4 (I7) - - - 23 - 2
RoF-—ERAZTH

(KE&H) S0 368064 29,584 33 64540 W30 (1504%) @B S5 (B0




HRAGRERERE
BEZEFE——FNH="1HINMEH

AR 605 BT 1 2 B 4 T

BOE B

H B B B 2 W) 2 AR A i A5 KA
E R B

B SE - MR KB

BUE W ]
T B ]

TEEH (Fr ) &4 2 Bl

il T B
[ia] — [H] BT & 2 ) 22 I $2 i s B R A+ i S,
aﬁﬂg
A7 {68 185 B R 2 r A5 K IE

Rl TS B U B 2 B e R AR

e KB &S EY 2 WD T
NI 2 B4 R e S EY
e 7 5t 1)) 2 2 2

R Be LR EEEY)
BIVSRAT %5 BR [ B &

BZE
ANAZTHLEAEA
— =& — BB
(REBEZ) ENSES Y
FET T
(10,001) (17,843)
10,625 20,126
26 40
(7,286) (567)
(3,911) (3,000)
(1,434) -
(1,980) 16,599
- (653)
(443) (445)
28 157
(415) (941)
(12,396) (2,185)
43,978 61,555
(40) 96

31,542 59,466



B & -

(1)

(2)

2HEE

A 7 W) T 5 R 3 MR R 1 SR AR TR ) 2 g 48 e L E T A R o T PR AR B R P L
B2 HRBFEIRBEF G LG ((FBEFHE QG )) B 2 s & 5t Q253458 [ 11 I B
Wt | 2 MRS M wt B B E A o

A 4R A A MR R R A S MR R - REF N E - F—— A =+ H 1B A 8
753 15 15 4971,844,000%5 7T = A A B8 B 47 & BABS SR RE > AN W EE S AR AN 4R 1B 2 BRI I
WMENE SR WA C % 8 A A& -

A AT 0 A 2 e DA TR O RT MR I 2 T RE

1 — ] A B 2 ) R 4t 2 B A B A AR B A 2 AT RE
HE AR A 2 AT RE 5 K

. AR 2 1 5 I -

AR A ERAE - R DL BRI o AR e AR R Y A R AR S BB R B D -

EX:3- 8

7 W 565 5 U 5 R 3R ) 5 IR S T (0 A S o BT BR AR 2 R O B SR B R AR
T A=t B 2 MBS R B R & — 30 MESRAA T W & At A & P A o B
A BN HLE =% — 4 A — H B R 2 8 Rk AR A R R AT K AR BT 2 A s S A T
A~ ERT M B ([ BB IEIREJER ) BROL o PRANGZ 50T 7T X AEAE AT 2 7 vl 0 5 i o ¥ S SIE
e Y R A B 2 R B DA RO A ) (] % DA A T R 2 R B E R A )

7R ARSI e R A L ) A A A 2 R T e s 5 o YR ) o AR A ) S R A R T
BAR B AT HE S ~ 8 AT B R AN S R W A S B TR I R

10



3)

“4)

(5

Wy
UNAAEEERE T ——FANA=+HIE=M@A &AW AZ a2 754

BZE BZE
NA=ZTHIE=ZEA ANA=tTHLXMER

—®——& % %F —®——& % i
F#x  Tkr  FHx T

PEAL O 6 O B A O 2 A IR 3,829 2,526 7,447 4,880
R T B B R I A i R B
(TSHER ) e 15,254 22,789 25,646 30,398
19,083 25,315 33,093 35,278
TEER

AR T 2 i e 4R R R A 1 4R I 0 B R S i R B S A SR B R R S A o
Lo B A o ERUE BRI E SR B M S A R B B AR 2 AR
BABS EORE > 8T 23 ML UR BT A R BL o It - BRECEER BT S A BEER AL - DR B2 A U -

FE ity e MR 2 WA 2 A B RE3 o

i EE R
AL S E - r A ER B EE (NEAEeR THE) 2R -

& A
B= B=
ANA=tHL=@EA NA=+HIEANEA
—BE——F “E-FF ZB-——F —“FT T
FET F o F#ET F it or
AT A 2 2 BB S B S 21,486 18,417 42,108 36,125
— [ A B A " R 2 B A E B 200 998 397 1,984

21,686 19,415 42,505 38,109

11



(6)

(7)

(8)

Bi1E
5= 5=
NA=tTHLE=@EA NA=tTHLERNEA
—E——F X -%F ZB——F —“F %
FET F T FET F o

w4 2 T 5 B

— 7 HA T (225) 58 - 58
% A i A

— A< T[] - (1,035) - (2,070)
BLIE (3E4) (225) 977) - (2,012)

MR AL B E =T —— N =+ Bk A e =% — 2 AR (] 9500 20 A o] BB i A1) > A
b ST 40 A9 7 o R 4 AR L 4B A

oAt w32 HE [ 2 B JEH% A Bl ) ik E R 2 A AT B R A

iR 5
REE T ——FEANA =+ HILAEA R > A 7] 3 8 R 8% 85 IR RS (R %
o) o

XHEEE
5= 5=
NA=tTHLE=@EA NA=tTHLERNEA
—E——F “ZF-FF ZB——F “FX-FF
FET F o FET FiEoC

A3 [ Ml 129 AR AT BR T 31 45 TE AR B AR

Y & e 663 4,780 1,327 9,562
W - Wi LI e 878 883 1,765 1,767
B LA (B35 %)

ek TE 3,484 4,149 7,585 8,495
DU A5 =2 A 1,349 1,147 3,100 2,371
w7 & 5,477 - 5,477 -
KEEA
SRAT A YA 20 15 26 42
HoAth A B e A - 125 122 370
At Bl 55 Mg A 150 - 300 -

12



9)

10)

(1)

BRER

BEF——FARNA=ZTHIE=MA BANEA 28R EAE R TR IEA N 7 HEA ARG R
% 5 18 0 Bl £934,819,0009 7T 567,026,000 7T (& —Z4F : 30,417,000% JC 263,548,000
W5 o0) KA B BT A B 2 AR T2 B0y Fll £9502,966,933 8% 503,193, 1001% (—F —F 4

502,621,933 %502,162,357/%) 715 -

FH P B Bl R AT B A 2 ) 2 SR AT o AT $58 e o i S B E WT AE EAg i s 4R R o i AR
s 18 2w B Sl S B AR W) 2 R AT AT R R g TR

W B REE

AEBMBE _F——FANHA =T HIEAEA 2 W - i KR SR A 257,286,000
JC(ZF—FAF 1 567,000000) o AME —F——FNH = HIEASHEAME 2 W - i X
R A B A8 RR THT(E £5524,000% 7 (ZF —F4F © 48,0008 7T) ©

FE W B 5 R 7k K H Ath B W RIR
AL — B T - 5 % T 30290 HBYAE S o DUTR Z5 5 iy 0 ) 4 R By > ARV 9 58 3T 2
51| 1B Wi B oy B ik 2 SR e 23 A

R=2——% % %5
AA=t+A +ZA=+—H

FET Fi#or

JE U & 5 i 3K
30H A 4,623 5,831
31%90H 1,616 371
91%180H 2,487 612
181%F365H 3,002 407
H 365 H 4,005 6,039
15,733 13,260
Al JRE i Kk I 23,228 24,991
38,961 38,251

AL FE TR > geFHEEFNEEE R AT HEAEF NESERE - FEFEE
BEESFEMS W - AEBETEWNGERER > UFRELEFNFERER - AEEIE
DITEAR WO DL - o B 5 (8085 N A AR B 15 5 S B e 2 de K -

A 4R [ 2 E R O IR AR A A b A 3 AR T E 459,494,000 0 (K —FFE+_H=+—H :

7,058,000% 7T) 2 MEWCEKIH > A B B IEU it 00 [H] 465 RO BRF 2 28 (R A AR 2 BRUBIUE - RO
R S B B B % 310 I i 9 (A e Sl 9 i O 25 SR Bk o

13



(12)

(13)

(14)

5)

BNEZERRRHEENSRE
AR 2% 17 it J00 ] 5 SR > ARR 3% 5% 0TI 2 90 R A B 5 Bk 2 MR e 20 A

R=F——F RO FE
AAS+AE toA=tT—H

FET Tt or
30 H K2 2 A ” 5 IR 41,252 62,220
At JE A5 3K I 12,704 5,988
53,956 68,208
B 2
BB HE
Tt T
5 % T 0.0 1 4% 7T 2 3 38 %
hE
Wz ——F—-H—-H A F——FNH=1TH 2,000,000,000 20,000
BB AT BE
W o FEz——F—H—H 502,621,933 5,026
A7 A1 186 A 345,000 4
W oFE——FH=ZTH 502,966,933 5,030
RETH AT

AR ——FRNA =T H > AEEAKEHL AL £510,765,000% ¢ (—F—FHE+ - H
—=+—H :9,891,000% ) > H 44,166,000 TR —FERNFTH (T —F4E+ " H=+—
H : 3,202,000 7T) ©

BREHWRER

MUAR AR ZF——F LA EAER > IR EFE 2 EFT ((AREFEESSE))
Cr —THE R GRERE BT R G A=A ((ERT)) > Bl Tt s
R GRS T U R Z B 0y A o REATERTR > AR R A R LR
AT REEEOR GEREN B EERE G LM E RS YR ) 2 R - B
RRAEA B 09 5 @ e ) > U TS AR I A AR 2 ) A ] 45 9 4 I B 8 ) L > T EL B
BB AT AR REAA A F 2 BB R o

14



(16) EEEALRS

a.

A G [ A U0 LA BN A T 2 R 5 W

BZE
NA=Zt+HLILEANEA
—E——F ZE—EA
FET Tt oC
fi] — [H] S (] 422 i) BT B o R B A i i L
o1 B BBk AR 25,633 29,412
1) B} J 2 ) 1 JE 18 I R R B A A
o1 B BBk AR 13 985
1] B} J 2> 7] 1 JE 12 S A R BR: B A R B o 52 RS A 20,922 36,896
] — 24 B R (1% 3 A 8 \) S B JE s W) A S )
R 1% 55 e 6,912 -
] 32 B R R (% 45 B AR O ) S LB & s R A B Y )
A AR OBS 2 B S 430 410
REAARNF —HEFHEAE a2 —HA AW
Bl A 122 370
] A & B RCE f A 2 — [N | S AT
) B B 52 397 1,984
B B
W N HAE M E R A M
BZE
NA=Zt+HLILEANEA
—E——fF ZE—EA
FETT Tt oC
JERGE AT 4,339 3,079
il ik 1% A Al 30 33
DAy S A 1,536 1,047
5,905 4,159

15



BE HERELRART LHES
R EF AN A =T HIEAMEA > A% w SULAT T B 8 2 F IS
B U (] A 2% A AT AT B T RS

EREEE

AN F EARER SR B R RSCL AL & B > Didmat B B A 4R B 22 0 T ¥R
W RN EEREY FEZEGHALA =AW AT EFLAN - FEE R
GLHEMALEEBE —F——FANA=ZTHIEANEA ZREFZES P IS -

EEEERSZAERE

BE T ——FRNH =1 HIEANEA - AR A BRAVE AT /805 58 ) 2 18 e
I o A7 BE R KO 8 7 A SE AR T B0 R 26 5. 48 2856710k Fir i 2 B 5 R E AR MR o KR m)
EREHFHAEBEWMR  EFBEIANBE_F - FANH=THILAMA
LIRS RS R A0 5 2 M E PR SR T R -

EENBRFERB 2ER
iR St SV A S I N = BTSN DS AR & X S ol =l PN 3
A B A £ [ SE B o SBE T 0 RT BE A BUBE T AT AT SR 2 M AT -

TEER

ZN/NNIRYI =t Sk SVANE Ity e E N IPAN (MR IR S5 1 i i E ST U > O i
v o 2 A 248006 W R ST U IR 8 A BT A S B AGR S o Sl 78 R DL ER A A B R
EHH -

REF G
FERREERQT
B 1T F R AT
EiRE

B “F - —F/\ANH

WAL H W - 3l A G R4 BT #EH - 2 75 A 9k % 50 4 K Moumouris,
ChristosIC/E > W4 B ITEFE - 977 75 BR G 98 S0 R 5 0 70 2E - PAR =4 W
HHITEF » I 5 BT~ 22 BT Rk 18 AR TE 2

252l T B2 H AL 7 B SE R AT HEwww.hkgem.com.Z [ R 4\ A 4N 75 ) 5 B £
RAEL H R AR 2 7] 4 4 www.melcolot.com A T & -

16



